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Page 2 1. Companies in a perfectly competitive market are said to have price takers, that is, when the market determines the price of equilibrium for a product, companies have to accept that price. If you sell a product in a perfectly competitive market, but are not satisfied with its price, will
you raise the price by even one cent? 2. Would independent car transport fit the characteristics of a highly competitive industry? 3. Let's look at Table 8.13. What would happen to the company's profits if the market price rises to $6 per pack of raspberries? Total fixed cost variable cost Total
revenue Profit 0 $62 $62 - $0 —$62 10 $90 $62 $28 $60 —$30 20 $110 $62 $48 $120 $120 120 $120 10 30 $126 $62 $64 $180 $54 40 $144 $62 $82 $240 $96 50 $166 $62 $10 4 $300 $134 60 $192 $62 $130 $360 $168 70 $224 $62 $162 $420 $196 80 $264 $62 $62 $202 $480 $216 90
$324 $62 $262 $540 $216 100 $404 $62 $342 $600 $196 4. Suppose the market price rises to $6, as table 8.14 shows. What will happen to the profit-maximizing level of production? Total fixed cost variable cost Marginal cost Total revenue 0 $62 $62 - - $0 - 10 $90 $62 $28 $2.80 $60
$6.00 20 $110 $62 $48 $2.00 $120 $6.0 030 $126 $62 $64 $1.60 $180 $6.00 40 $144 $62 $82 $1.80 $240 $6.00 50 $166 $62 $104 $2.20 $2.20 300 $6.00 60 $192 $62 $130 $2.60 $6.00 70 $224 $62 $162 $3.20 $420 $6.00 80 $264 $62 $202 $202 4.00 $480 $6.00 90 $324 $62 $262
$6.00 $6.00 $6.00 100 $404 $62 $342 $8.00 $600 $6.00 5. Explain in words why a profit-maximizing company chooses not to produce in a quantity where the marginal cost exceeds marginal revenues. 6. The marginal cost curve of an undertaking above the average variable cost curve
shall be equal to the individual supply curve of the undertaking. This means that every time a company receives a price from the market, it will be willing to provide production, production, the price is equal to the cost of the extremity. What happens to the company's individual delivery curve
if marginal costs rise? 7. If new technology in a highly competitive market leads to a significant reduction in production costs, how will this affect the market? 8. The market for excellent competition is in a long-term balance. What happens to the market if trade unions are able to raise wages
for workers? 9. Production efficiency and allocation efficiency are two concepts achieved in the long term in a perfectly competitive market. These are two reasons why we call them perfect. How do you use these two concepts to analyse other market structures and mark them as imperfect?
10. Explain how the principle of maximising profits in determining P = MC leads to competitiveness in a market that is extremely effective. 1. Understanding the impact of taxes on social care The chart below shows the supply and demand for an imaginary good called pinckney. A black point
(plus symbol) indicates the pre-tax balance. Suppose the government has just decided to impose a tax on this market; grey points (star symbol) indicate the after-tax scenario. 2. Taxes and prosperity Consider the market for commercial fans. The chart below shows the supply and demand
for commercial fans before the government taxes any taxes. 3. The relationship between tax revenue, deadweight loss, and demandelasticity The government is considering imposing a tax of $60 per unit on concert ticket providers or bus tickets. The supply curve for each of these two
goods is identical, as you can see on each of the 4. Laffer governments often place so-called sin taxes on goods or services such as cigarettes, alcohol and pornography. Such taxes are popular with politicians as they are usually more
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